N of associated (recoToSim) looper tracks vs normalized X’

recoToSim) tracks vs normalized x?

[{

0 12 14 16 18 20

track x?

berset

[N o associated

ized x?

ack vs normal

tr

0

B e Rt

0
o
<
o
o
32
N <
00 X
— O
s
© =
—
<
—
N
—
o
—
[ee]
©
<
o
o
oney
02
N <
00 X
— O
o S
© =
—
iy
o
N
H el
2 £
. - o
&
0
3
lo  LES
. EOL
32
~ P2
Eac
3=
AR R
Lo
R A S o Bgs
R
Hn_NMv_
Fsg

[N of reci

02

TN

00 X

— O

7 &

© =

— i

R

—
a'al

o

—

o

—

0

© .
¢
¢

~ ]
s

N o :
2
g i

o = o
o -
=4




	Contents
	Page 1


